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Etsy Expected Vmas

Loony At A fair / Balanced die → possible outcomes
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Expected value Castors Distribution of outcomes .

Rolly a pair of Dice

→ More 7 's than 3 's
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what are the properties of Me list (distribution)
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we can measure Hav far
away a given value
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Find the
"

distance "
to expected value

.
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Square the differences - Amplification
By sets Bigger

Small ( at ) get smaller

Variance
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Measure Randomness

Consider an example of  encoded letters
-

ASCII

Smaller example fixed
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g bits

↳ we could do a fixed 3kt

encoding
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All

numbers
have

A - 000 C= 010 e= too 6=110

B - 001 0=011 F = lot
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what if we allowed variable lengths for letters

→ conman letters - Short codes

→ rare letters - lay codes

Could we
'be more efficient ?

More formally ,
BPC - Bits pr

code

what if we let the length depend on fneguwey
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Entropy - corrosion limit
Picked on purpose with this

encoding
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2li=p÷ Expected code length
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Ight ) = - lgcn )

-
f - be a function that outputs The

description of sanitary
f- can have input

D= f L x )

d *
= fax )

f- is function

K (d) = minffcxll) sit fax ) outputs d }
Kolmogorov Caykoxity

- not soluble


